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&KDUDFWHULVWLF�LPSHGDQFH�IRU

PLFURVWULS�WUDQVPLVVLRQ�OLQHV

�DVVXPHV�QRQPDJQHWLF�GLHOHFWULF�0LFURVWULS

K

Z

&RSODQDU

Z�

Z�

ε r

:DYHJXLGH

7ZLVWHG�SDLU

&RD[LDO

E

D

K

Z
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Z  = ZoL

= 0Γ

Constant X

Constant R

Z  =L
= 0O

1Γ
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(open)

Γ
LZ  = 0

= ±180O1

(short)
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Reflected

Incident

� !� "#$%&

SWR

S-Parameters
S11,S22 Reflection

Coefficient

Impedance,
Admittance

R+jX,
G+jB

Return
Loss

Γ, ρ

A

R
=

Transmitted

Incident

#��&'�$''$%&

Gain / Loss

S-Parameters
S21,S12

Group
Delay

Transmission
Coefficient

Insertion
Phase

Τ,τ

B

R
=

�

'

,QFLGHQW

5HIOHFWHG

4
7UDQVPLWWHGDUT
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����)�$�������������&������������	����������������������	������������	�������*����������������
������	����������	������������	�������"����������-	�������	���������������	�������	�����������������
��������������+����	��������������	�������������	��	������������	��	�������������	��������������$6?�&�
���������������������������������������������	���������$���������������	��	�����������������������&�
��	���������������������$
��������	���������������������������&��������
�������������������	����������
����������������������	������	���	���������	�����������$������
&��������	�����������������)��	���
�������	���	�����������������*�)��������	����������	��	���	�����������������"�)�������	���������
��������������������������	������������1������=���
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∞ �"

&	�
�������	�
()/���)	*

ρ
RL

VSWR

/ D

!����
�������	�
()/���	���+���	
�*

/��"

D ∞

=
Z L − Z O

ZL + OZ

Reflection
Coefficient

=
Vreflected

Vincident
= ρ ΦΓ

=ρ ΓReturn loss = -20 log(ρ),

VSWR  = Emax

Emin
=

1 + ρ
1 - ρ

,	������'��������-��������	
Emax
Emin

������	��	�����������������������������	���������	��������	�	����������$>&����������	���������	�����
������	�������������$�&���)������	��������	�	����	���������	��������������������	��������������������	��	����
�	�������������������
���������������	��	����	�������	������	��(���	�������������������������������������
����H�������B�����5�/�������5�/��-����(2�	�������+�������(����������������	������������������	���������
�����=�����-����(2�5������������������	���	��������������	������������������5�D�������������������	
��
�������������	�������=�����������

�	����	��	�������������������	�������������������	�������������	���	���	�������������������������������
�������	���	���������������)�����������	���
��������	������������"������	�����������+����	�����������	�	�	��
����������������	���������������	����	���������������������������������	��������������	�	������
���$����
������	����������	��������������1������=����	�������������	�������������	����	��������	�����	����	���
������������	����������������������&��)���������������
�����������������������
�������"���������
�����������	�����	��
���������	��	������	�������)��������������	���
�������	��	�	���������(��	��������
����/��"�����������������������	���	��

*����������������������������������������	���	�������	����	����	�������������������	���������
I�����	�������I����	������	�	�������
�����������	����������������������������	�����������	��$B�-)���
�-)����������&������	�����	�������������
	�����������������)���������������������	�	������������
����������������	������������
��������������$D7�&�$D��&��B�-)�������1������������
��������������
	��	�	���
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������	��	���!���������

VTransmitted
V

Incident

Transmission Coefficient   = Τ =
VTransmitted

VIncident
 =  τ∠φ

DUT

Gain  (dB)   =  20 Log
V Trans

V Inc

 =   20 log τ

Insertion Loss (dB)   =   - 20 Log
V Trans

V Inc

 =   - 20 log τ

Insertion Phase (deg)   =
V Trans

V Inc

 =   φ

������	��	��������	�	������	�����	�����������������	��������������	�	����
������	��	���������������%�
JB�����J�#�JB	��J������������	�������	��JB�����J�'�JB	��J������������������	������	�����	����������-���
	�����	��������	���
��������	���"���������	����	���	��������	���������	�	�	��������������������������	�
�
����������������	�	������
������������������	�����������������	��	��������	�	����	���������	�����	��
������

2��1	������	�����	����������	�������	�����������������������������	��	��
����������������������������
�����	����������	�����������������+�����������������������	���������������������	���$��������������
���	�������������������������&��A����������������	�������������������������������1������=���	���������
������������	���������	�����������������������������	�������������������������	�������������	����������
�������6?���������	���	�����	����������	����	����������	����������	��	����������	�����������
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>�����6�����$>6&

Frequency

Group delay ripple

Average delay

t o

t g

in radians

in radians/sec

in degrees

f   in Hertz  (ω = 2 π f)

φ
ω
φ

Group Delay (t  )g =

−d φ
d ω =

−1

360 o

d φ
d f*

Phase

φ
∆φ

Frequency

∆ω

ω

● ��������������	��	������������	����������
● >6��	�����	��	�������	�����	��
● ������������������������	�������	��������

➨ ���������	�����+������������������������������>6
➨ �	�����������������������	������������������	��
➨ ��������������������������������	�������	�������	��

2��1	������	�����	����������	�������	�����������������������������	��	��
����������������������������
�����	����������	�����������������+�����������������������	���������������������	���$��������������
���	�������������������������&���	����	��	��������������	��	���������	��������������������������������
�����������	����	��	�����	��
������������������	���������	�����������������������������	������
�
�������	�����
���	�����	�����������������������������6?��	������������������������>�����������	���
��������������������	���	���������	���������������6?������������+�������>�����������	�������������
�
�	�������	��	�������	�����	�������������������������6?������������+������������	���������	���������
���������������	��������������������������������$���������	����������������	����������	���	��&����
���	��	����������	���������������������������	�������	��	�������������������������������B��	��	����	�
�������������������	������	�����	����8����������	��	����������	������������������	�����	�����>����������
	��8����������������������1�����	������������	�����	���

-��������	��	������������	����������������	��	��	������������+����	����������������	����	������
������������	����������������������	�����	��������������+�����������������	�������	�������	��	��
��������$���������	������	�������������������������&���*������	��������������������������	���	�
��������
���������������������������	���	�����	��
���$�������������	�����������	���������������������
��������	�����	����&���*�������1������������������������������������	���	���������
���������������
�������������������	���
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!���������������+�����

50 Ω

50 Ω

R

A

Phase
Difference
between
A and R

Frequency

 �����������	�	�������	�����������	������	��	���������	��������������	��������	�����������	��������

�������*�����)�����������-�����	�������	���+������������	���������	��=������!������������������
���+������	�����������������������	�	�	�������
��������������	��������	����������	��
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50 Ω

50 Ω

R

DUT

Frequency

A

Phase
Difference
between
A and R

!���������������+�����

F����������	��������������$6?�&���!��������������������	��������	������������������)���������$������	��
�����������6?��	�������!������	����������	���	��������$�����	��&��	������+��������������������

��������������
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50 Ω

50 Ω

R

DUT
A

Frequency

Phase
Difference
between
A and R

!���������������+�����

3�����	����������	���������������)�����������������������������+��������������*��	���������K��������L����
����������������+��������������F������������������	�	�	�������
�������������	��������������	�������
��	���
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��)�B��������!������������������

● )������������������������D
● �����G�	�������������	���
● �����	�����	�5������������	��
��

● )�����������������D���������G
● ��������������������������������
● ���5��������	
���	�������	
��

#
��������	�.��������	��#����'��

3RUW�� 3RUW��

6RXUFH

%

5

$

DUTFwd

3RUW�� 3RUW��

7UDQVIHU�VZLWFK

6RXUFH

%

5

$

'/0�
�����
�#����'��

DUTFwd Rev

��������������
��	������������������������������������	���������1������=���������������	��	����������	��
$��)&����������������)������������������������������������������������������������	������������������
���������	����	�����������=�����������������������������	��	��������������������	����������6?�����
������	���������	��������	�������������������������	��������������=������)�
�����������1������=���������
������������������������������	
���	�����������������������������	������������������������	�������
�
���	������	�������������������������� ����������)�
����������=�������������������	����

����������������������������
��������������������������������������������6?�����	����������������
���������	=�������������������������)�������������������������	��������������������������������	����
��������������
���������������������	����������������������������������������������������$DG�����&������
�������	������	���	����������������������������	��
����������������������1������=��������	�������
�������������������)�
����������=�����
���������������������
����)�������������	���������������

���������������	����������������������������	���������������
�������	�������������������������������	��
����������������	��������	����������	����������������������������	��	�	����	���	����$�����	�����������
������������
��������������������������6?�&�� ����������������������������������������������
��
	������������������������������1������=����M�����	������	����������������������������
�����������������	�����������������������	����	���	�����������	��������������������������������$������.
�	��	���������������&��-������	�����������1������=����	���������	������	�����������������������
���������������	���	�����������������������������������	����	����������	����������	���	���

�����������������������������������������������	�������;��������������N������������M��������	���
	�������	���������������������	������	�����	��
���	������*�����	
�����	���
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)��������,��	
���	��

������
�����

6?�

����
����

� )?

errors due to
mismatch

6RXUFH /RDG
6RXUFH /RDG6?�

)�����������	
���	������������	����	�����������1�����
�����������������	�������
�����������������
��������������������������������	��	�������	����������
�����������������������	��	���������������
$��������������	������	���������
�����������
��&����������������	�����������������?�	�����������
���	
���	�������������	��	�������������������������������	���������������	������	����
��
�������������������	����	���������������	������M���������������������	����������������������	��
�	��������������������	
���������������1������=�������������������6?��

-����������������	
���	���	�����������������	��	�����������������	����	
�����������	����
��
������������	���������������
�������
���	�����������	���������������������	���������������������
�������
�������	���	���	�����������������	��������������������������������������1������=�������������	��
���������������������������	�������������������	��������������	
������������������=��4�������������
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2���
M	������

,�������16	����	�	��
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DUT

● �������	�������1	���$*�)&
● ������	��	�������1	���$"�)&

������	
������
	��

������������	
���	����������������������8��
�������������������	��������������������

������������	
���	���	�����������������������������������������	����	����	����������������������������8��
�������������������	�������������	������	���������1����������������������������������������
����
����������������	�������	��������1���������	����	�	���������������1�������������������������	����
�������	������������������������������������	��������������������������������������+���������������������
����	����������������������������	�������������	��	�������1	�����������������������������������	�������
�����	
���������������������������������	����	�����������������	
�$�	����	������������&�	�������������
�	����	�����������������������������������������	��	������������������������������������	
���	�������������
������������������	���
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�����)�������2	���$�)2&�,��	
���	��

����������
●�	�����������������������
�1������1��$���������������&
● 
����������
	�������	���	�����1����������������	��������
● ���������������1�������������	��	�������� �������������

3������������
● 	������	������	��!����)��������	��	����	���
● �	
��������������������������
����$�����
����	��&
● E�D�"-������
���	�����������	��	����	��

#��������
���	��
��������	�����	
��	�/
�	���������
	
���������
������

*����������	���������	���������������
��	�����������������������	
���	���������)2������A2�����)2
���	
���	���������	�	���������������������������
	����	���������������������$�����������������
	���
�	
�����������������	�������	���	���&���������	����������������)2�	��������������	
���	����������������
�����	���������������1���������	�������	�����������+����	������	��	����
	��
����	�������	�������
����	���	�����������	��	���	��	��������
�	��������������������������������������������������������A2�
���	
���	�����)2��������������	��	����	������1����������������	����������������������������������
�����	��	���	������������	������������
���	��	�	��������������	��������	��������������������������	������	��
���	������	�����=������������������������������������
����������	������������	�������	���������
��
������
G/�����D:/��������	������������)2����	
���	����������������	����������	������������$������������������
����&�������	��������������������������
����������������	=���

����)������	���	������������������������������	��	����	�����������������������������������+����	��

������	������	����$��������&���%��	��������	��	����������1��������)2����������������	������	���	�

���������������	������	�������	����	����	������	��	������*�����������	�����)2��	
��������������
������
�����	�����������
����	���

�������	�	��������������������	�������)2����	
���	������������������������	�������	�����������+��������
������	���!�������������

*����	������� !�E.D/��)2����	
���	��������������
	����������������!�������F����E.D/�E*�$ !�./OD�
;:N.3&

%���	
������	������	�����	������������������	����)2<����	
���	���!�������F����E0G/�G�$ !�./OD�
DON;3&
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,��������	=	���?�1�����6��	���

4�������
�����
��(�+�5+�)+�'*��	����
����
�6���������7
● �	����������	�����
����	���������������������	��
● �������������������$������������������������&�����������+�����������
���	������������������������	�	����$���������������������	���	��&

● �����������	��������������������������������
● ���������������	����	���	���������������������������������������
����	�	���

�/��
�����
�
B��5����%��7����B�
%��5����%��7����B�

����5 B�
%� 9� �

����5 B�
B� ,� �

������������	
����
����*

����������	������
����*

%�������������������������������	=�������1������	�����������������	��������������1��������������
���������	��������	�	����������������������������������������������������������
���������
����������������	
������������	����
����	�������������	���$���������1&����������������������������
����	�	���������������������������������������������������������+���������������	=��	�����
���	��������������������������������������������������������� ��P�����(�������������*�����������
�������������+�	���������	������������������������������������������	���������+�������������	�������
�������������$�����&�����������	�����������������������������������	��������������������	���	����������
��������������������3
����	����������������������������������������	������+����	���	����������
�����	����
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-���?�����!���������Q

● �����	��������������.�
�	�����	������+����	��
➨ ����������������������	����������	����
�������������1������=��

➨ ���4����������������������	�������������
���	������	����������	����������������������

● ���������� 
����
��������������
$��	����������������	��������	�	�������&

● �����
��
�����������������������	����
���	�����������	���������������������

● ��������
��� ��P�����(�����������
������������������	�����	���

● �������	���	���������������������������	����	�
�����������	��5���
�
���	������

Incident TransmittedS21

S11
Reflected S22

Reflected

Transmitted Incident

b1

a1
b2

a 2
S12

DUT

b1 = S11a1 + S12 a 2

b2 = S21 a1 + S22 a 2

Port 1 Port 2

*���	������+����	����	��	�����������������������������������������������������������	����������A���������
�	���������������������������������������
�������������������������������������������	�����������
�������
�����������������������	��	�������������	����������
�������������	�������	�	�����%�����	�	���
���	������	�����������	������������������������	��������������	������������������������,������������
����������������������	=	����	������+������������1��	�������������������4�����������������
��1��

��������������������������	��������������������������������������������������������������������
�������������	����������	����� ��P����(�������������������������������	�	��������������������������	��
�����������������	��������	�	�������������������	�����������������������������4����+�	��������������	�����
�����	��
�������������������	������������������������������������������������	�������	��������
�
����������������	�������������������������������%�����	����� ��P�����(����������������
�����	��������
�������������	�����	�����*��������	�������������)�����	������������������������	���	����������������
�	�����������	���	�����	������������������������������������������������
��������	�����	������
������������

*��F���������	�������FG����������������������������������	����������������������������������
��	��
�������	��������������������	������������	�������
���������	�������I�I�	��������������������������������
������������������
���	��������������������������������������GD�	������������������������	�����������
������������������������	������)����	��������������������-�����������
�����������������$������DD&��	�
	��	���������������	���������������



��������	�
	����
�
����	������	
�

��������,�

197

M�����	�����!���������

S 11 = Reflected

Incident
=

b 1

a 1 a 2 = 0

S 21 =
Transmitted

Incident
=

b
2

a 1 a 2 = 0

S 22 = Reflected

Incident
=

b 2

a 2 a 1 = 0

S 12 =
Transmitted

Incident
=

b
1

a 2 a 1 = 0

Incident TransmittedS 21

S 11
Reflected

b 1

a 1

b 2

Z 0

Load
a 2 = 0

DUTForward

1
IncidentTransmitted S 12

S 22

Reflected

b 2

a2

b

a1 = 0

DUTZ 0

Load ����
��

�DD������GD�����������	����
��������	�����������	����������������������	��	�������������������
������	������	����������������������	������	������	������������(����������	������	�	������������������
�G�	��=������DD�	���+�	��������������	�����������
��������	��������	�	�������	����������������6?������
�GD�	��������������������
�������	��	��������	�	�����2	1��	����
������	����������������������G����
����	���	��������D�	�����������������$��1	����D�=���&���GG������DG������������������
���������GG�	�
�+�	���������������������������
��������	��������	�	��������������	����������������6?��������DG�	�����
��������������
�������	��	��������	�	����

���������������������������������������������������������������������������	���	��������������
�������������
�	�����	����������*����	������������������������������	����������	���D�����G�����
�	���=���
$��	����	��������������	�	�	�������������������&��-��������6?��	����������������������������������
������1������=�������������4��������������	������������������������������������������������������
8�
����	���	�����������	�	��������������������	���	�����������	��������������������������������	������	��
������������������������������������	�������	�����������������������������������������������
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3+���	�����!�����������	���,�����
M����������������

�DD�5����������������	��������	�	����(�����������*
�GG�5����������������	��������	�	����(	�����������*
�GD�5���������������	��	��������	�	����(�����	
��	��*
�DG�5���������������	��	��������	�	����(��	����	�*

�������
+�'/��
�����
���
������
�����������

�����������//��	
���
+�
��	��������
�����������
���	�/�����������	
���

�����������������������	����������������������������������������������������������	�����
���������
�����	
����
������)����
���������������������	�����������	�����+����	�	�����������������������
�
�����������	������������	���������������DD������GG������������	���������������	���������
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>�	���"������2	��������������+�����
,��������	=��	��

����������4�����������1����
�����	��������������+�����
���������	=��	���$�������������	����������	������	���&�
����������	������������������	=��	�����������	������	��������

● ����	�����
����	��
● ��	����	����

����������4�����������1����
�����	��������������+���������������	=��	���$�������������	����������	��
���	���&�������������	������������������	=��	�����������	������	������������	�����
����	����������
	�����������	����	�����	���������	����������	����������	����	�����
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2	�����B������F���	�����"����	��

�����
�������	
7
● 	�������������������+����	������
���������$������	�	����
���+����	����������&
●����������+��������������������
����	���������������������

Time

A

to

Frequencyf
1

Time

Sin 360   * f * t°

Frequency

A

1
f

DUT

 A * Sin 360  * f ( t - t   )° °

,QSXW 2XWSXW

Time

Frequency

&	������
�������	
7
●����������+�����������������
���+��������	���$������	����	
���&
●���	�	��������+����	����������
$������	����	�����������	��&

f
1

%��������������������������	���������������������������	��������	����������
��������	��������
����	�����
����	����6��	���������
�������	������������	����������	��������������������������	����
�	�������*����	����	��������	����������	������	��������������������������������������������+�������F�
�����	�������������������F����	��������	����������	���	������	������	�����+������$���	
��������
�����&
�������������������	������	��������������������	������	�����������	�������������M��������������
�����
�������	�������������������	���������	�	���������
�	
	������	�����
����	���	����	�����	����������
�������	������	��������	��	�����������
��������	������	�����	1���	�������������	������	�����	1������	�	����
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M�����	���F���	�����"����	��
M������������������������

● ��	����������
��������6�
�7�������$�&
➨ ������	��������	���������������������	��
➨ 	�����������	������������������	��������������������)������	���

● ��	��������
	
8������6�
�����������������
➨ ��	����������	��
➨ *M����!M��������	��

RL  0  dBm        ATTEN    10 dB          10 dB / DIV

CENTER  20.00000  MHz                 SPAN  10.00 kHz
RB   30 Hz               VB 30 Hz                   ST   20 secLPF

8563A SPECTRUM ANALYZ ER      9 kHz - 26.5 GHz

LPF DUT

F���	�����
����	���	��	������������+����	������	��������������������	������	�����	��������������������
����	����������������������������	������	�����������	����	�����	���$������������������	��
��������������=���������	������������&�������	����������	�������*M����!M��������	���$�������
����������	���������1������=��������������������&�

-���	������������������������������������	�����������1������=���	����������������	�	�������	�����
��	�����������	���
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F�	����	�����$F�&

● ���������	�
�����������
�������	���
● �������������������������������
● ���	�� �����!�����"�#�����$���

DUT
So/No

Si/Ni

Gain

*�������	������������������	=��	���������	������	��������	���	���	����	����	������F�	����	�����	���
�����������������	���������
���������	�	���$���������������	�������	���	����������������	���&���%��	�
�����������
�����������D/���������������	���������	������	����������	������	�����������������	����������	��
���	����*���������$��������	=�
��&�����	�	������������������	����	��������/��"�

F�	����	�����	��������������������	�������	����	������������������������������=����	���������	��
��������������������	�����-���	�������������������������������������	+�������������	�����	��
�	�����	�����������	�����	�������������	�������	�	�������	��������	�����������	���
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Amplified Input Noise
Added Noise

G, Na

Zs @ Ts = kTsB

Nout = Na + kTsBG

Slope = kGB

N
oi

se
 P

ow
er

 O
ut

pu
t

(N
ou

t)

N2

N1

Tc Th

Na

Source impedance temperature

+ 28 V

Excess Noise
Source

Th (noise source on) => N2 (at amplifier output)

Tc (noise source off) => N1 (at amplifier output)

Y = N2/N1

NF (dB) = ENR (dB) - 10 log (Y-1)

ENR (dB)

P�������������	+�������F��M�����������

!������������������������������	�������������������������	����	���������������	�	���	��
����	������
P�������������	+���������P�������������	+�����1����������������������������������������������
����	�	���������	���������	������	���������������	��������
�������	��������������	����������	����������
�
�������	����������	������������������������	�����
	���������	������������
���������������	����
���
�����������	��������	����������������������
�������	���	���
����������������
�������	������	��$3F)&�
������	����������������������������	�	���	�������
	���	��������������	�	���	�������	�������������	��
������
����������	�	���	������

�	������	�������
���������������������+�	���������	���������������$�������	��1��"&��������������������
��	����������������	�������	�������������������������	������	�����	���+�	������������������
��������������������������
�������	����������	���+�	����������������������������������������������
���
�������������������������������������FD�����FG���������������������	���	��������������������������
	�����������������	���������
��������������������������	���������������������	���������
�����
����	�	������	�������
���
��������	�������������	����	�������������������������	���	���������	�����������
��	�������������	�	���

����������������������	����	����������P��������	�����	�������FG��	�	����
��FD�$	���	����������&��������
��	����	�����	������������������������

F��$�"&�5�3F)�$�"&���D/�<�����$P�D&
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*M����!M�,������	��
Amplitude

Time

AM 
(dB)

PM 
(deg)

Mag(AM in)

Test  Stimulus

Amplitude

Time

AM 
(dB)

PM 
(deg)

Mag(AMout)

Mag(PMout)

Output Response

AM - PM Conversion =

Mag(PMout)

Mag(AM in)
(deg/dB)

DUT

Power sweep

�����	����*M� ��
��������	���������	�����������
���	����*M� �
�������	���$�����R*M&

I

Q

*����������������������������	������������������	=����������	�����
����	����������	�	����	��*M����
!M��������	������	���	����������������������������������	�������������	��	���$����!M&���	���	�
	�������
������	��������	��	����	��������	�������������$����*M&���%����������	���	��������������	�
���������!M�	���������
����	�����	���������	��������	��	��������������������������	�������������
��	�����������	��������	�������
��	�����	���������	�����������������	���������������������������������	��
������������������������	���R*M����
������������	������*M����!M��������	���	��������	����������	�	���
����������	����������������������$�������&��������	���	������������
������������	���������
�	�����	������������������	�������������	�������	���������
	��������������$"3)&�	���	�	������������
3
������������������������	�������������������������������	��������M��R!�S������D:R*M��-�	���	�
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M�����	���*M����!M�,������	��

●����������	��	��������
�	����������������
●�	����������������GD
●*M����!M�5��/�0G0�����"

CH1 S21  log MAG 1 dB/ REF 25 dB

    START -15.0 dBm STOP   5.0 dBmCW  1.880 000 000 GHz
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CH2 S21  phase REF 174 1 /
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 1
1

2
3

1_: 0      dB

         REF=1

 

2

1

2
3

1_  0      

2_  351.38 m
   .5 dBm 

3_  727.45 m
   1.0 dBm 
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 �����	�1	��
● �������������	������������	�1�	��������	������1�����MXQFWLRQ�����
● �����	�1��	=������������������	�����������	��	���	�����	�������������DPELHQW

● �	���������	���	�������������������������������	��	���������
● �����������	�������������	���������������	�1�$������������������&
● bolt device in place first, then solder

heatsink

������������������	�	������������������������	�1����������������	���������3�������	��	���	���G�G.�-
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